4-3 Solve Quadratic Equations by Factoring

5 KeyConcept Zero Product Property

Words For any real numbers aand b, if ab = 0, then either a = 0, b = 0, or both
aand b equal zero.

Example fF(x+ 3)x—5)=0,thenx+3=00rx—5=0.

Example 1

Write a quadratic equation in standard form with —% and 6 as its roots.
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1. Tickets for a spaghetti dinner cost $4 for children and $6 for adults. The
equation 4+ 6y = 36 represents the number of children x and adults y who

can eat at the dinner for $36. If no children are eating at the dinner, how
many ad;lts can eat for $36? X =0 67 __._'-54 1. 6 ad"’. ,3
( C VR
2. If (a, 9) is a solution to the equation—4a = b — 21, what is a? >=6 2. - s
= .
b= 2,0
3. Find the x-intercept ofx— 2y =9. - — 5 3. ( i
£ —‘f‘_ "-:-q 2” *
4. skip! 6) “a= ~\ 2 4. y
e < -ﬂaf

A
\)
e

5. Find the root of 9x — 36 = 0. ("\'

For Onestions 6 — 8 find the slone of the line nassino thronoh each nair of
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points. If the slope is undefined, wrlte undef ined. ) D
) . -

(62,5 and 3. 6) -~ __I_..__,\ SS3 L, m=)

(X6, ~4)and (-3,7) S &

R A4
) >—(-4D_. = O
1,3)and (6, 3) 2 — 8.
i Ratomea o Mocns ‘534 2.c 2°€

9. In 1972, federal vehicle emission standards allowed 3.4 hydrocarbons

released per mile driven. By 2007, the standards allowed only 0. -6 2 " m

hydrocarbons per mile drivefi. What was the rate of change ﬁ'ofl 972 tcz097 9 . (4 / - l/ s

20072 9.&é_$‘0 L_?'/
712 —

10. If a shark can swim 27 milesin 9 h (i many miles will if swim in 10. % My \Q-,P
].2 hOUISr? ﬁ"\ — o !> -

ﬁ 1.
For Questions 11 and 12, dete mewh her e: Fc_h equatlon |§ a linear
hhﬂfﬁ* ;i;

equation. If so, write t atxn in stan 12.




equation. If so, write the equation in standard form

For Questions 11 and 12, determine w ach equation is a linear
Ax +By

11. skip

Y=vnx +P

13. Graph the equatio £ 4y =2.
—% —)‘

_dyo+2
-4

Chapters=s=2 {
—

12.2¢+3y+7=3

Glencoe Algebra 1
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14. Graph) el \

-~ = TSN
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15. skip! 1s. | [ [ | | VI
|0 X
%
16. Determine whether the sequence —10, -7, 4, —1. . . . is an arithmetic _\
sequence. Write yes or no. If so, state the common difference. 2 - 16 * =
17. Find the next three terms of the arithmetic sequence 8,15,22,29, . . .. i % g 5 Y 5 ) go

1Q ~l-in



For Questions 19 and 20, use the table below that shows the amount of
gasoline a car consumes for different distances driven.

1
0.04

2
0.08

3
0.12

4
0.16

5
0.20

Distance (mi) )
Gasoline (gal) o

<
7

19. Write an equation in function notation for the relationship between distance

and gasoline used.

20. How many gallons will the car consume after driving for 150 miles?

Y zwx+b

0 098-0-%t .o = — :
_-_-;ié(';l’ 71 y \0°
Z )SO ..-\/5
= g‘ - =

Bonus Graphx =3, y=-1, and 2x — 2y = 0 on a coordinate plane. Give the
vertices of the figure formed by the three lines.







